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Money demanded is a function of the interest rate and present income.

Md = f(income)  

a. transactions demand for money

Income is GDP or present income.

b. precautionary demand for money

Md = f(interest rates)  

The relationship between interest rates and money demanded. 

Keynes and some of his followers believed that investors had their choice between bonds – which earned interest – and money –which did not earn interest.

a. Speculative Demand for Money – by Keynes

If interest rates are high, then according to Keynes, investors expect interest rates to fall. If investors believe interest rates will fall, they will want to use their money to buy bonds. When interest rates fall bond prices rise. So during periods of high interest rates, the demand for bonds increases – lock in at the high rates- while the demand for money decreases. Also, no one wants to borrow at high rates, especially if they expect rates to drop soon. 

Conclusion: When interest rates are high, the demand for money is low.

b. Opportunity Cost of Money – by some of Keynes’ followers

If interest rates are high, investors will not want to hold their money in the form of cash because cash does not pay interest. If interest rates are really high, would you rather hold money or put money into an investment?  When interest rates were high investors would chose to put to purchase bonds. Therefore, the demand for bonds were high, and the demand for money was low. When interest rates were low, the opportunity cost of holding money fell, so holding money became a more viable option.

c. Loanable Funds Perspective – a more recent approach

Why do people demand money? To purchase goods and services

When do people demand goods and services? When the prices of these items fall.

As interest rates fall, the price of big ticket items – goods and services a person must borrow money to purchase – fall. So the demand for these goods and services increases.

Conclusion: as interest rates fall, the demand for money rises.

ALL THREE THEORIES RESULT IN THE SAME CONCLUSION.

Unlike Fisher, Keynes believed that changing the money supply could have real affects on the economy. He thought the government could increase or decrease the money supply to change real GDP to the level they wanted. But he warned that an increase in real GDP would result in increased inflation, and a decrease in real GDP would cause unemployment rates to go up. Governments had to find the optimal mix between unemployment and inflation.

Money supply changes lead to investment changes which lead to real GDP changes.

Other Keynes concepts

Prices and wages were rigid – not likely to adjust quickly.

The demand for money was sporadic – not stable – it changes when interest and income changes.

The liquidity trap – there comes a point when monetary policy is no longer useful.

SEE QUESTION BELOW!!!
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1. Explain the speculative demand for money.

2. Explain the opportunity cost of holding money.

3. According to Keynes how would an increase in the money supply work through the economy?

Show the graph(s)

4. How do Keynes and Fisher differ in regard to the effects of an increase in the supply of money on interest rates? 

5. From what you have observed, are prices really rigid? Are wages really fixed?

6. When does monetary policy become ineffective?

7. Do you think the Federal Reserve Bank thinks we are currently in a liquidity trap type economy?

8. Why is it important for the demand for money to be stable?

9. According to Keynes, can the government influence real GDP?

10. How do Keynes and Fisher differ in regard to time and adjustments?

11. Why would Keynes think that savings are a drain on the economy?
12. How does the labor market accommodate the product market when the money supply is increased? Shouldn’t the increase in the prices cause either wages to increase or less workers to supply their labor? 

